



Certain Laguerre-based Generalized Apostol Type Polynomials

Nabiullah Khan, Talha Usman and Junesang Choi

Abstract. A variety of polynomials, their extensions and variants have been extensively investigated, due mainly to their potential applications in diverse research areas. In this paper, we aim to introduce Laguerre-based generalized Apostol type polynomials and investigate some properties and identities involving them. Among them, some differential-recursive relations for the Hermite-Laguerre polynomials, which are expressed in terms of generalized Apostol type numbers and the Laguerre-based generalized Apostol type polynomials, an implicit summation formula and addition-symmetry identities for the Laguerre-based generalized Apostol type polynomials are presented. The results presented here, being very general, are pointed out to reduce to yield some known or new formulas and identities for relatively simple polynomials and numbers.

1 Introduction and preliminaries

The two variable Laguerre polynomials $L_n(x, y)$ are defined by the generating function (see [7]; see also [15, 16, 17, 18])

$$e^{yt} C_0(xt) = \sum_{n=0}^{\infty} L_n(x, y) \frac{t^n}{n!}, \quad (1.1)$$

where $C_0(x)$ is the 0-th order Tricomi function (see, e.g., [30])

$$C_0(x) = \sum_{r=0}^{\infty} \frac{(-1)^r x^r}{(r!)^2}. \quad (1.2)$$

From (1.1) and (1.2), it is easy to derive the following finite series

$$L_n(x, y) = \sum_{s=0}^n \frac{n!(-1)^s y^{n-s} x^s}{(n-s)!(s!)^2} \quad (n \in \mathbb{N}_0). \quad (1.3)$$

2010 *Mathematics Subject Classification.* 05A10, 05A15, 11B68, 33C45, 33C99.

Key words and phrases. Laguerre polynomials, Hermite polynomials, Hermite-based generalized Apostol type polynomials, Laguerre-based generalized Apostol type polynomials, implicit formula, summation formulae, symmetric identities.

Corresponding author: Junesang Choi.

Here and in the following, let \mathbb{C} , \mathbb{R} , \mathbb{R}^+ , and \mathbb{N} be the sets of complex numbers, real numbers, positive real numbers, and positive integers, respectively, and let $\mathbb{N}_0 := \mathbb{N} \cup \{0\}$.

The generalized Bernoulli polynomials $B_n^{(\alpha)}(x)$ of order $\alpha \in \mathbb{C}$, the generalized Euler polynomials $E_n^{(\alpha)}(x)$ of order $\alpha \in \mathbb{C}$, and the generalized Genocchi polynomials $G_n^{(\alpha)}(x)$ of order $\alpha \in \mathbb{C}$ are defined, respectively, by the following generating functions (see, e.g., [8, p. 253 et seq.], [21, Section 2.8], [23], [32, Section 1.7])

$$\left(\frac{t}{e^t - 1}\right)^\alpha e^{xt} = \sum_{n=0}^{\infty} B_n^{(\alpha)}(x) \frac{t^n}{n!} \quad (|t| < 2\pi; 1^\alpha := 1), \quad (1.4)$$

$$\left(\frac{2}{e^t + 1}\right)^\alpha e^{xt} = \sum_{n=0}^{\infty} E_n^{(\alpha)}(x) \frac{t^n}{n!} \quad (|t| < \pi; 1^\alpha := 1), \quad (1.5)$$

$$\left(\frac{2t}{e^t + 1}\right)^\alpha e^{xt} = \sum_{n=0}^{\infty} G_n^{(\alpha)}(x) \frac{t^n}{n!} \quad (|t| < \pi; 1^\alpha := 1). \quad (1.6)$$

A large number of interesting properties and relationships involving those polynomials in (1.4), (1.5) and (1.6) have been presented (see, e.g., [1, 3, 5, 8, 9, 28])

The generalized Apostol-Bernoulli polynomials $B_n^{(\alpha)}(x; \lambda)$ of order $\alpha \in \mathbb{C}$ (see [22, 25]), the generalized Apostol-Euler polynomials $E_n^{(\alpha)}(x; \lambda)$ of order $\alpha \in \mathbb{C}$ (see [22]) and the generalized Apostol-Genocchi polynomials $G_n^{(\alpha)}(x; \lambda)$ of order $\alpha \in \mathbb{C}$ (see [23, 24, 27]) are defined, respectively, by the following generating functions

$$\left(\frac{t}{\lambda e^t - 1}\right)^\alpha e^{xt} = \sum_{n=0}^{\infty} B_n^{(\alpha)}(x; \lambda) \frac{t^n}{n!} \quad (|t + \ln \lambda| < 2\pi; 1^\alpha := 1), \quad (1.7)$$

$$\left(\frac{2}{\lambda e^t + 1}\right)^\alpha e^{xt} = \sum_{n=0}^{\infty} E_n^{(\alpha)}(x; \lambda) \frac{t^n}{n!} \quad (|t + \ln \lambda| < \pi; 1^\alpha := 1), \quad (1.8)$$

$$\left(\frac{2t}{\lambda e^t + 1}\right)^\alpha e^{xt} = \sum_{n=0}^{\infty} G_n^{(\alpha)}(x; \lambda) \frac{t^n}{n!} \quad (|t + \ln \lambda| < \pi; 1^\alpha := 1). \quad (1.9)$$

Setting $x = 0$ in (1.7), (1.8) and (1.9), we have

$$B_n^{(\alpha)}(0; \lambda) := B_n^{(\alpha)}(\lambda), \quad E_n^{(\alpha)}(0; \lambda) := E_n^{(\alpha)}(\lambda), \quad G_n^{(\alpha)}(0; \lambda) = G_n^{(\alpha)}(\lambda), \quad (1.10)$$

which are called Apostol-Bernoulli number of order α , Apostol-Euler number of order α and Apostol-Genocchi number of order α , respectively. Clearly,

$$B_n^{(\alpha)}(x) = B_n^{(\alpha)}(x; 1), \quad E_n^{(\alpha)}(x) = E_n^{(\alpha)}(x; 1), \quad G_n^{(\alpha)}(x) = G_n^{(\alpha)}(x; 1). \quad (1.11)$$

Srivastava et al. [33, 34] have introduced and investigated certain extensions of generalized Apostol-Bernoulli polynomials $B_n^{(\alpha)}(x; \lambda; a, b, c)$ of order $\alpha \in \mathbb{C}$, Apostol-Euler polynomials $E_n^{(\alpha)}(x; \lambda; a, b, c)$ of order $\alpha \in \mathbb{C}$ and Apostol-Genocchi polynomials $G_n^{(\alpha)}(x; \lambda; a, b, c)$ of order $\alpha \in \mathbb{C}$ which are defined, respectively, by the following generating functions

$$\left(\frac{t}{\lambda b^t - a^t}\right)^\alpha e^{xt} = \sum_{n=0}^{\infty} B_n^{(\alpha)}(x; \lambda; a, b, c) \frac{t^n}{n!} \tag{1.12}$$

$$\left(a, b, c \in \mathbb{R}^+ \text{ with } a \neq b; \left|t \ln\left(\frac{b}{a}\right) + \ln \lambda\right| < 2\pi; 1^\alpha := 1; x \in \mathbb{R}\right),$$

$$\left(\frac{2}{\lambda b^t + a^t}\right)^\alpha e^{xt} = \sum_{n=0}^{\infty} E_n^{(\alpha)}(x; \lambda; a, b, c) \frac{t^n}{n!} \tag{1.13}$$

$$\left(a, b, c \in \mathbb{R}^+ \text{ with } a \neq b; \left|t \ln\left(\frac{b}{a}\right) + \ln \lambda\right| < \pi; 1^\alpha := 1; x \in \mathbb{R}\right),$$

$$\left(\frac{2t}{\lambda b^t + a^t}\right)^\alpha e^{xt} = \sum_{n=0}^{\infty} G_n^{(\alpha)}(x; \lambda; a, b, c) \frac{t^n}{n!} \tag{1.14}$$

$$\left(a, b, c \in \mathbb{R}^+ \text{ with } a \neq b; \left|t \ln\left(\frac{b}{a}\right) + \ln \lambda\right| < \pi; 1^\alpha := 1; x \in \mathbb{R}\right).$$

Clearly, the special cases of (1.12), (1.13) and (1.14) when $a = 1, b = c = e$ reduce, respectively, to (1.7), (1.8) and (1.9).

Lu and Luo [20] have introduced and investigated the generalized Apostol type polynomials $F_n^{(\alpha)}(x; \lambda; \mu, \nu)$ ($\alpha \in \mathbb{N}_0, \lambda, \mu, \nu \in \mathbb{C}$) of order α defined by means of the following generating function

$$\left(\frac{2^\mu t^\nu}{\lambda e^t + 1}\right)^\alpha e^{xt} = \sum_{n=0}^{\infty} F_n^{(\alpha)}(x; \lambda; \mu, \nu) \frac{t^n}{n!} \quad (|t| < |\log(-\lambda)|), \tag{1.15}$$

where

$$F_n^{(\alpha)}(\lambda; \mu, \nu) := F_n^{(\alpha)}(0; \lambda; \mu, \nu) \tag{1.16}$$

are the Apostol type numbers of order α . Note that the generalized Apostol type polynomials $F_n^{(\alpha)}(x; \lambda; \mu, \nu)$ in (1.15) reduce to yield the polynomials in (1.7), (1.8) and (1.9) as follows:

$$B_n^{(\alpha)}(x; \lambda) = (-1)^\alpha F_n^{(\alpha)}(x; -\lambda; 0, 1), \tag{1.17}$$

$$E_n^{(\alpha)}(x; \lambda) = F_n^{(\alpha)}(x; \lambda; 1, 0), \tag{1.18}$$

$$G_n^{(\alpha)}(x; \lambda) = F_n^{(\alpha)}(x; \lambda; 1, 1). \tag{1.19}$$

The 2-variable Kampé de Fériet generalization of the Hermite polynomials $H_n(x, y)$ is given by (see, e.g., [2], [15])

$$H_n(x, y) = n! \sum_{r=0}^{\lfloor \frac{n}{2} \rfloor} \frac{y^r x^{n-2r}}{r!(n-2r)!}, \quad (1.20)$$

which are defined by the following generating function

$$e^{xt+yt^2} = \sum_{n=0}^{\infty} H_n(x, y) \frac{t^n}{n!}. \quad (1.21)$$

The particular case of (1.21) when $y = -1$ and x is replaced by $2x$ reduces to generate the ordinary Hermite polynomials $H_n(x)$ (see, e.g., [2], [30]).

The Hermite-Laguerre polynomials ${}_H L_n(x, y, z)$ are defined by the following generating function (see [15, Eq. (1.16)])

$$e^{yt+zt^2} C_0(xt) = \sum_{n=0}^{\infty} {}_H L_n(x, y, z) \frac{t^n}{n!}. \quad (1.22)$$

Lu and Luo [20, Eq. (4.5)] introduced the Hermite-based generalized Apostol type polynomials of order $\alpha \in \mathbb{N}_0$

$$\left(\frac{2^\mu t^\nu}{\lambda e^t + 1} \right)^\alpha e^{yt+zt^2} = \sum_{n=0}^{\infty} {}_H F_n^{(\alpha)}(y, z; \lambda; \mu, \nu) \frac{t^n}{n!} \quad (|t| < |\log(-\lambda)|) \quad (1.23)$$

and

$${}_H F_n^{(1)}(y, z; \lambda; \mu, \nu) := {}_H F_n(y, z; \lambda; \mu, \nu). \quad (1.24)$$

Here, we introduce the Laguerre-based generalized Apostol type polynomials

$${}_L \mathcal{F}_n^{(\alpha)}(\alpha, x, y, z; a, b, c, d; \lambda; \mu, \nu)$$

in the following definition.

Definition 1. The Laguerre-based generalized Apostol type polynomials of order α ${}_L \mathcal{F}_n^{(\alpha)}(x, y, z; a, b, c, d; \lambda; \mu, \nu)$ are defined by the following generating function

$$\left(\frac{d^\mu t^\nu}{\lambda a^t + b^t} \right)^\alpha e^{yt+zt^2} C_0(xt) = \sum_{n=0}^{\infty} {}_L \mathcal{F}_n^{(\alpha)}(x, y, z; a, b, c; \lambda; \mu, \nu) \frac{t^n}{n!} \quad (1.25)$$

$$(\alpha, x, y, z, \mu, \nu \in \mathbb{C}; \lambda \in \mathbb{C} \setminus \{0\};$$

$$a, b, c, d \in \mathbb{R}^+ \text{ with } a \neq b; |t| < |\log(-\lambda)|/|\log(a/b)|).$$

Here $C_0(x)$ is the same as in (1.2). Here and throughout, for simplicity, all involved multiple-valued functions are assumed to take the principal branches. Also let

$${}_L \mathcal{F}_n^{(\alpha)}(x, y, z; e, 1, e, 2; \lambda; \mu, \nu) := {}_L F_n^{(\alpha)}(x, y, z; \lambda; \mu, \nu). \quad (1.26)$$

In this paper, we aim to investigate certain basic properties and identities of the Laguerre-based generalized Apostol type polynomials ${}_L\mathcal{F}_n^{(\alpha)}(\alpha, x, y, z; a, b, c, d; \lambda; \mu, \nu)$ in (1.25). Also, we give some differential-recursive relations for the Hermite-Laguerre polynomials, which are expressed in terms of generalized Apostol type numbers and the Laguerre-based generalized Apostol type polynomials. Further, by mainly using some formal manipulations of double series to the generating function, we present an implicit summation formula and various addition-symmetry identities for the Laguerre-based generalized Apostol type polynomials, which are pointed out to reduce to yield corresponding formulas and identities for a number of relatively simple known polynomials and numbers (see, e.g., [6, 11, 12, 13, 14, 15, 16, 17, 18, 19, 26, 29, 31, 36, 37, 38]).

2 Elementary properties and identities involving ${}_L\mathcal{F}_n^{(\alpha)}(x, y, z; a, b, c, d; \lambda; \mu, \nu)$

We present some properties and identities involving the Laguerre-based generalized Apostol type polynomials ${}_L\mathcal{F}_n^{(\alpha)}(x, y, z; a, b, c, d; \lambda; \mu, \nu)$ in (1.25), which are given in Theorem 2.1.

For easier reference, we recall some formal manipulations of double series in the following lemma (see, e.g., [4], [16], [30, pp. 56-57], and [35, p. 52]).

Lemma 2.1. *The following identities hold:*

$$\sum_{n=0}^{\infty} \sum_{k=0}^{\infty} A_{k,n} = \sum_{n=0}^{\infty} \sum_{k=0}^{[n/p]} A_{k,n-pk} \quad (p \in \mathbb{N}); \tag{2.1}$$

$$\sum_{n=0}^{\infty} \sum_{k=0}^{[n/p]} A_{k,n} = \sum_{n=0}^{\infty} \sum_{k=0}^{\infty} A_{k,n+pk} \quad (p \in \mathbb{N}); \tag{2.2}$$

$$\sum_{N=0}^{\infty} f(N) \frac{(x+y)^N}{N!} = \sum_{n,m=0}^{\infty} f(m+n) \frac{x^n y^m}{n! m!}. \tag{2.3}$$

Here, the $A_{k,n}$ and $f(N)$ ($k, n, N \in \mathbb{N}_0$) are real or complex valued functions indexed by the k, n and N , respectively, and x and y are real or complex numbers. Also, for possible rearrangements of the involved double series, all the associated series should be absolutely convergent.

Theorem 2.1. *Let $\alpha, x, y, z, \mu, \nu \in \mathbb{C}$ and $\lambda \in \mathbb{C} \setminus \{0\}$. Also let $a, b, c, d \in \mathbb{R}^+$ with $a \neq b$. Then*

$$\begin{aligned} & \frac{\partial^k}{\partial y^k} {}_L\mathcal{F}_n^{(\alpha)}(x, y, z; a, b, c, d; \lambda; \mu, \nu) \\ &= \frac{n! \log^k c}{(n-k)!} {}_L\mathcal{F}_{n-k}^{(\alpha)}(x, y, z; a, b, c, d; \lambda; \mu, \nu) \quad (n, k \in \mathbb{N}_0; k \leq n); \end{aligned} \tag{2.4}$$

$$\begin{aligned} & \frac{\partial^k}{\partial z^k} {}_L\mathcal{F}_n^{(\alpha)}(x, y, z; a, b, c, d; \lambda; \mu, \nu) \\ &= \frac{n! \log^k c}{(n-2k)!} {}_L\mathcal{F}_{n-2k}^{(\alpha)}(x, y, z; a, b, c, d; \lambda; \mu, \nu) \quad (n, k \in \mathbb{N}_0; 2k \leq n); \end{aligned} \quad (2.5)$$

$$\begin{aligned} & \frac{\partial^{k+\ell}}{\partial y^k \partial z^\ell} {}_L\mathcal{F}_n^{(\alpha)}(x, y, z; a, b, c, d; \lambda; \mu, \nu) = \frac{\partial^{\ell+k}}{\partial z^\ell \partial y^k} {}_L\mathcal{F}_n^{(\alpha)}(x, y, z; a, b, c, d; \lambda; \mu, \nu) \\ &= \frac{n! \log^{k+\ell} c}{(n-k-2\ell)!} {}_L\mathcal{F}_{n-k-2\ell}^{(\alpha)}(x, y, z; a, b, c, d; \lambda; \mu, \nu) \quad (n, k, \ell \in \mathbb{N}_0; k+2\ell \leq n); \end{aligned} \quad (2.6)$$

$${}_L F_n^{(\alpha)}(x, y, z; \lambda; \mu, \nu) = \sum_{m=0}^n \binom{n}{m} \frac{(-x)^{n-m}}{(n-m)!} {}_H F_m^{(\alpha)}(y, z; \lambda; \mu, \nu) \quad (n \in \mathbb{N}_0); \quad (2.7)$$

$$\begin{aligned} & {}_L F_n^{(\alpha)}(x, y, z; \lambda; \mu, \nu) \\ &= \sum_{m=0}^n \sum_{\ell=0}^m \binom{n}{m} \binom{m}{\ell} \frac{(-x)^{n-m}}{(n-m)!} {}_H F_{m-\ell}(y, z) F_\ell^{(\alpha)}(\lambda; \mu, \nu) \quad (n \in \mathbb{N}_0); \end{aligned} \quad (2.8)$$

$$\begin{aligned} & {}_L F_n^{(\alpha)}(x, y, z; \lambda; \mu, \nu) \\ &= \sum_{m=0}^n \sum_{\ell=0}^{\lfloor \frac{m}{2} \rfloor} \frac{n! z^\ell}{(n-m)! (m-2\ell)! \ell!} F_{n-m}^{(\alpha)}(\lambda; \mu, \nu) L_{m-2\ell}(x, y) \quad (n \in \mathbb{N}_0); \end{aligned} \quad (2.9)$$

$${}_H L_n(x, y, z) = \sum_{m=0}^n \binom{n}{m} F_{n-m}^{(-\alpha)}(\lambda; \mu, \nu) {}_L F_m^{(\alpha)}(x, y, z; \lambda; \mu, \nu) \quad (n \in \mathbb{N}_0). \quad (2.10)$$

$$\begin{aligned} & \frac{(-1)^n x^n}{n!} \\ &= \sum_{m=0}^n \sum_{\ell=0}^m \binom{n}{m} \binom{m}{\ell} {}_H F_{n-m}(-y, -z) F_{m-\ell}^{(-\alpha)}(\lambda; \mu, \nu) {}_L F_\ell^{(\alpha)}(x, y, z; \lambda; \mu, \nu) \\ &= \sum_{m=0}^n \sum_{\ell=0}^m \binom{n}{m} \binom{m}{\ell} F_{n-m}^{(-\alpha)}(\lambda; \mu, \nu) {}_H F_{m-\ell}(-y, -z) {}_L F_\ell^{(\alpha)}(x, y, z; \lambda; \mu, \nu) \\ &= \sum_{m=0}^n \sum_{\ell=0}^m \binom{n}{m} \binom{m}{\ell} F_{n-m}^{(-\alpha)}(\lambda; \mu, \nu) {}_L F_{m-\ell}^{(\alpha)}(x, y, z; \lambda; \mu, \nu) {}_H F_\ell(-y, -z). \end{aligned} \quad (2.11)$$

Proof. Differentiating both sides of (1.25) with respect to the variables y and z , k times, and equating the coefficients of t^n , we obtain (2.4) and (2.5).

Differentiating both sides of (1.25) with respect to the variables y and z , respectively, k and ℓ times, and equating the coefficients of t^n , we get (2.6).

Applying the left members of (1.2) and (1.23) in (1.26), with the aid of (2.1) for $p = 1$, we get (2.7).

Employing the left members of (1.2), (1.16) and (1.21) in (1.26), by a successive use of (2.1) for $p = 1$, we have (2.8).

Applying the left members of (1.1) and (1.21) in (1.26), with the aid of (2.1) for $p = 1$ and $p = 2$, we derive (2.9).

From (1.26), we have

$$e^{yt+zt^2} C_0(xt) = \left(\frac{2^\mu t^\nu}{\lambda e^t + 1} \right)^{-\alpha} \sum_{n=0}^{\infty} {}_L F_n^{(\alpha)}(x, y, z; \lambda; \mu, \nu) \frac{t^n}{n!} \tag{2.12}$$

and

$$C_0(xt) = e^{-yt-zt^2} \left(\frac{2^\mu t^\nu}{\lambda e^t + 1} \right)^{-\alpha} \sum_{n=0}^{\infty} {}_L F_n^{(\alpha)}(x, y, z; \lambda; \mu, \nu) \frac{t^n}{n!}. \tag{2.13}$$

Using (1.22) and (1.16) in (2.12), and (1.2), (1.22) and (1.16) in (2.13), similarly as above, respectively, we get (2.10) and (2.11).

□

3 Differential-recursive relations

We establish some differential-recursive relations involving the generalized Apostol type numbers $F_n^{(\alpha)}(\lambda; \mu, \nu)$ in (1.16), the Hermite-Laguerre polynomials ${}_H L_n(x, y, z)$ in (1.22), and the Laguerre-based generalized Apostol type polynomials ${}_L F_n^{(\alpha)}(x, y, z; \lambda; \mu, \nu)$ in (1.26), asserted in the following theorem.

Theorem 3.1. *Let $\alpha, x, y, z, \mu, \nu \in \mathbb{C}$ and $\lambda \in \mathbb{C} \setminus \{0\}$. Then*

$$\begin{aligned} & n y {}_H L_{n-1}(x, y, z) + 2n(n-1) z {}_H L_{n-2}(x, y, z) + x \frac{\partial}{\partial x} {}_H L_n(x, y, z) \\ &= n \sum_{m=0}^n \binom{n}{m} F_{n-m}^{(\alpha)}(\lambda; \mu, \nu) {}_L F_m^{(\alpha)}(x, y, z; \lambda; \mu, \nu) \quad (n \in \mathbb{N} \setminus \{1\}); \end{aligned} \tag{3.1}$$

$${}_H L_{n-k}(x, y, z) = \sum_{m=0}^n \frac{(n-k)!}{m!(n-m)!} F_{n-m}^{(\alpha)}(\lambda; \mu, \nu) \frac{\partial^k}{\partial y^k} {}_L F_m^{(\alpha)}(x, y, z; \lambda; \mu, \nu) \tag{3.2}$$

$(n, k \in \mathbb{N}_0, k \leq n)$;

$${}_H L_{n-2k}(x, y, z) = \sum_{m=0}^n \frac{(n-2k)!}{m!(n-m)!} F_{n-m}^{(\alpha)}(\lambda; \mu, \nu) \frac{\partial^k}{\partial z^k} {}_L F_m^{(\alpha)}(x, y, z; \lambda; \mu, \nu) \quad (3.3)$$

$(n, k \in \mathbb{N}_0, 2k \leq n).$

Proof. From (1.16) and (1.26), using (2.1) with $p = 1$, we have

$$\begin{aligned} e^{yt+zt^2} C_0(xt) &= \left(\frac{2^\mu t^\nu}{\lambda e^t + 1} \right)^{-\alpha} \sum_{n=0}^{\infty} {}_L F_n^{(\alpha)}(x, y, z; \lambda; \mu, \nu) \frac{t^n}{n!} \\ &= \sum_{n=0}^{\infty} F_n^{(\alpha)}(\lambda; \mu, \nu) \frac{t^n}{n!} {}_L F_m^{(\alpha)}(x, y, z; \lambda; \mu, \nu) \frac{t^m}{m!} \\ &= \sum_{n=0}^{\infty} \sum_{m=0}^n \binom{n}{m} F_{n-m}^{(\alpha)}(\lambda; \mu, \nu) {}_L F_m^{(\alpha)}(x, y, z; \lambda; \mu, \nu) \frac{t^n}{n!}. \end{aligned} \quad (3.4)$$

Differentiating both sides of (3.4) with respect to t , we obtain

$$\begin{aligned} y t e^{yt+zt^2} C_0(xt) + 2zt e^{yt+zt^2} C_0(xt) + e^{yt+zt^2} \frac{\partial}{\partial t} C_0(xt) \\ = \sum_{n=1}^{\infty} \sum_{m=0}^n \binom{n}{m} F_{n-m}^{(\alpha)}(\lambda; \mu, \nu) {}_L F_m^{(\alpha)}(x, y, z; \lambda; \mu, \nu) \frac{t^{n-1}}{(n-1)!}. \end{aligned} \quad (3.5)$$

Multiplying both sides of (3.5) by t and using

$$t \frac{\partial}{\partial t} C_0(xt) = x \frac{\partial}{\partial x} C_0(xt),$$

we get

$$\begin{aligned} y t e^{yt+zt^2} C_0(xt) + 2zt^2 e^{yt+zt^2} C_0(xt) + x \frac{\partial}{\partial x} \left\{ e^{yt+zt^2} C_0(xt) \right\} \\ = \sum_{n=1}^{\infty} \sum_{m=0}^n \binom{n}{m} F_{n-m}^{(\alpha)}(\lambda; \mu, \nu) {}_L F_m^{(\alpha)}(x, y, z; \lambda; \mu, \nu) \frac{t^n}{(n-1)!}. \end{aligned} \quad (3.6)$$

Applying (1.22) to the left member of (3.6), we find

$$\begin{aligned} y \sum_{n=0}^{\infty} {}_H L_n(x, y, z) \frac{t^{n+1}}{n!} + 2z \sum_{n=0}^{\infty} {}_H L_n(x, y, z) \frac{t^{n+2}}{n!} + x \sum_{n=0}^{\infty} \frac{\partial}{\partial x} {}_H L_n(x, y, z) \frac{t^n}{n!} \\ = \sum_{n=1}^{\infty} \sum_{m=0}^n \binom{n}{m} F_{n-m}^{(\alpha)}(\lambda; \mu, \nu) {}_L F_m^{(\alpha)}(x, y, z; \lambda; \mu, \nu) \frac{t^n}{(n-1)!}. \end{aligned} \quad (3.7)$$

Equating the coefficients of t^n in both sides of (3.7), we derive (3.1).

Differentiating both sides of (3.4) with respect to the variable z , $k \in \mathbb{N}_0$ times, and using (1.22), we obtain

$$\begin{aligned} & \sum_{n=2k}^{\infty} {}_H L_{n-2k}(x, y, z) \frac{t^n}{(n-2k)!} \\ &= \sum_{n=0}^{\infty} \sum_{m=0}^n \binom{n}{m} F_{n-m}^{(\alpha)}(\lambda; \mu, \nu) \frac{\partial^k}{\partial z^k} L F_m^{(\alpha)}(x, y, z; \lambda; \mu, \nu) \frac{t^n}{n!}. \end{aligned} \quad (3.8)$$

Equating the coefficients of t^n on both sides of (3.8), we get (3.3).

Similarly as in getting (3.3), we derive (3.2). \square

4 Addition-symmetry identities

We establish some addition-symmetry identities involving the Laguerre-based generalized Apostol type polynomials ${}_L F_n^{(\alpha)}(x, y, z; \lambda; \mu, \nu)$ in (1.26) with respect to the order α , and the variables y and z , which are given in Theorem 4.1.

Theorem 4.1. *Let $n \in \mathbb{N}_0$, $\alpha_1, \alpha_2, x, y_1, y_2, z_1, z_2, \mu, \nu \in \mathbb{C}$ and $\lambda \in \mathbb{C} \setminus \{0\}$. Then*

$$\begin{aligned} & {}_L F_n^{(\alpha_1 + \alpha_2)}(x, y, z; \lambda; \mu, \nu) \\ &= \sum_{m=0}^n \binom{n}{m} F_{n-m}^{(\alpha_1)}(\lambda; \mu, \nu) {}_L F_m^{(\alpha_2)}(x, y, z; \lambda; \mu, \nu) \\ &= \sum_{m=0}^n \binom{n}{m} F_{n-m}^{(\alpha_2)}(\lambda; \mu, \nu) {}_L F_m^{(\alpha_1)}(x, y, z; \lambda; \mu, \nu); \end{aligned} \quad (4.1)$$

$$\begin{aligned} & {}_L F_n^{(\alpha)}(x, y_1 + y_2, z; \lambda; \mu, \nu) \\ &= \sum_{m=0}^n \binom{n}{m} y_2^{n-m} {}_L F_m^{(\alpha)}(x, y_1, z; \lambda; \mu, \nu) \\ &= \sum_{m=0}^n \binom{n}{m} y_1^{n-m} {}_L F_m^{(\alpha)}(x, y_2, z; \lambda; \mu, \nu); \end{aligned} \quad (4.2)$$

$$\begin{aligned} & {}_L F_n^{(\alpha)}(x, y, z_1 + z_2; \lambda; \mu, \nu) \\ &= \sum_{m=0}^{\lfloor \frac{n}{2} \rfloor} m! \binom{n}{2m} \binom{2m}{m} z_2^m {}_L F_{n-2m}^{(\alpha)}(x, y, z_1; \lambda; \mu, \nu) \\ &= \sum_{m=0}^{\lfloor \frac{n}{2} \rfloor} m! \binom{n}{2m} \binom{2m}{m} z_1^m {}_L F_{n-2m}^{(\alpha)}(x, y, z_2; \lambda; \mu, \nu); \end{aligned} \quad (4.3)$$

$$\begin{aligned}
& {}_L F_n^{(\alpha_1+\alpha_2)}(x, y_1 + y_2, z; \lambda; \mu, \nu) \\
&= \sum_{m=0}^n \binom{n}{m} F_{n-m}^{(\alpha_2)}(y_2; \lambda; \mu, \nu) {}_L F_m^{(\alpha_1)}(x, y_1, z; \lambda; \mu, \nu) \\
&= \sum_{m=0}^n \binom{n}{m} F_{n-m}^{(\alpha_1)}(y_2; \lambda; \mu, \nu) {}_L F_m^{(\alpha_2)}(x, y_1, z; \lambda; \mu, \nu) \\
&= \sum_{m=0}^n \binom{n}{m} F_{n-m}^{(\alpha_2)}(y_1; \lambda; \mu, \nu) {}_L F_m^{(\alpha_1)}(x, y_2, z; \lambda; \mu, \nu) \\
&= \sum_{m=0}^n \binom{n}{m} F_{n-m}^{(\alpha_1)}(y_1; \lambda; \mu, \nu) {}_L F_m^{(\alpha_2)}(x, y_2, z; \lambda; \mu, \nu);
\end{aligned} \tag{4.4}$$

$$\begin{aligned}
& {}_L F_n^{(\alpha_1+\alpha_2)}(x, y, z_1 + z_2; \lambda; \mu, \nu) \\
&= \sum_{m=0}^n \sum_{\ell=0}^{\lfloor \frac{m}{2} \rfloor} \ell! \binom{n}{m} \binom{m}{2\ell} \binom{2\ell}{\ell} z_2^\ell {}_L F_{n-m}^{(\alpha_1)}(x, y, z_1; \lambda; \mu, \nu) F_{m-2\ell}^{(\alpha_2)}(\lambda; \mu, \nu) \\
&= \sum_{m=0}^n \sum_{\ell=0}^{\lfloor \frac{m}{2} \rfloor} \ell! \binom{n}{m} \binom{m}{2\ell} \binom{2\ell}{\ell} z_2^\ell {}_L F_{n-m}^{(\alpha_2)}(x, y, z_1; \lambda; \mu, \nu) F_{m-2\ell}^{(\alpha_1)}(\lambda; \mu, \nu);
\end{aligned} \tag{4.5}$$

$$\begin{aligned}
& {}_L F_n^{(\alpha)}(x, y_1 + y_2, z_1 + z_2; \lambda; \mu, \nu) \\
&= \sum_{m=0}^n \binom{n}{m} {}_L F_{n-m}^{(\alpha)}(x, y_1, z_1; \lambda; \mu, \nu) H_m(y_2, z_2) \\
&= \sum_{m=0}^n \binom{n}{m} {}_L F_{n-m}^{(\alpha)}(x, y_2, z_1; \lambda; \mu, \nu) H_m(y_1, z_2) \\
&= \sum_{m=0}^n \binom{n}{m} {}_L F_{n-m}^{(\alpha)}(x, y_1, z_2; \lambda; \mu, \nu) H_m(y_2, z_1) \\
&= \sum_{m=0}^n \binom{n}{m} {}_L F_{n-m}^{(\alpha)}(x, y_2, z_2; \lambda; \mu, \nu) H_m(y_1, z_1);
\end{aligned} \tag{4.6}$$

$$\begin{aligned}
& {}_L F_n^{(\alpha_1+\alpha_2)}(x, y_1 + y_2, z_1 + z_2; \lambda; \mu, \nu) \\
&= \sum_{m=0}^n \binom{n}{m} {}_L F_{n-m}^{(\alpha_1)}(x, y_1, z_1; \lambda; \mu, \nu) H F_m^{(\alpha_2)}(y_2, z_2; \lambda; \mu, \nu) \\
&= \sum_{m=0}^n \binom{n}{m} {}_L F_{n-m}^{(\alpha_2)}(x, y_1, z_1; \lambda; \mu, \nu) H F_m^{(\alpha_1)}(y_2, z_2; \lambda; \mu, \nu)
\end{aligned} \tag{4.7}$$

$$\begin{aligned}
 &= \sum_{m=0}^n \binom{n}{m} {}_L F_{n-m}^{(\alpha_1)}(x, y_2, z_1; \lambda; \mu, \nu) {}_H F_m^{(\alpha_2)}(y_1, z_2; \lambda; \mu, \nu) \\
 &= \sum_{m=0}^n \binom{n}{m} {}_L F_{n-m}^{(\alpha_2)}(x, y_2, z_1; \lambda; \mu, \nu) {}_H F_m^{(\alpha_1)}(y_2, z_1; \lambda; \mu, \nu).
 \end{aligned}$$

Proof. Choosing to use the involved polynomials, similarly as in the proof of Theorem 2.1, we can prove the identities here. We omit the details. □

5 Implicit summation formula

Implicit formulas involving various polynomials have been presented (e.g., [11, 12, 13, 14, 15, 16, 17, 18, 19]). Similarly as in the above-cited works, we provide an implicit formula for the Laguerre-based generalized Apostol type polynomials in (1.25), asserted in the following theorem.

Theorem 5.1. *Let $n, m \in \mathbb{N}_0$. Also let $\alpha, v, x, y, z, \mu, \nu \in \mathbb{C}$ and $\lambda \in \mathbb{C} \setminus \{0\}$. Further let $a, b, c, d \in \mathbb{R}^+$ with $a \neq b$. Then*

$$\begin{aligned}
 &{}_L \mathcal{F}_{m+n}^{(\alpha)}(x, v, z; a, b, c, d; \lambda; \mu, \nu) \\
 &= \sum_{k=0}^n \sum_{s=0}^m \binom{n}{k} \binom{m}{s} (v - y)^{s+k} \log^{s+k} c {}_L \mathcal{F}_{m+n-s-k}^{(\alpha)}(x, v, z; a, b, c, d; \lambda; \mu, \nu).
 \end{aligned} \tag{5.1}$$

Proof. Replacing t by $t + u$ in (1.25), we have

$$\begin{aligned}
 &\left(\frac{d^\mu (t + u)^\nu}{\lambda a^{t+u} + b^t} \right)^\alpha c^{z(t+u)^2} C_0(x(t + u)) \\
 &= c^{-y(t+u)} \sum_{n=0}^\infty {}_L \mathcal{F}_n^{(\alpha)}(x, y, z; a, b, c, d; \lambda; \mu, \nu) \frac{(t + u)^n}{n!}.
 \end{aligned} \tag{5.2}$$

Using binomial formula to expand $(t + u)^n$ in the right member of (5.2), with the aid of (2.2) for $p = 1$, we obtain

$$\begin{aligned}
 &\left(\frac{d^\mu (t + u)^\nu}{\lambda a^{t+u} + b^t} \right)^\alpha c^{z(t+u)^2} C_0(x(t + u)) \\
 &= c^{-y(t+u)} \sum_{m,n=0}^\infty {}_L \mathcal{F}_{m+n}^{(\alpha)}(x, y, z; a, b, c, d; \lambda; \mu, \nu) \frac{t^n}{n!} \frac{u^m}{m!}.
 \end{aligned} \tag{5.3}$$

We find that the left member of (5.3) is *independent* of the variable y . In this regard, replacing y by another variable v in the right member of (5.3) and equating the right members of the resulting

identity and (5.3), we get

$$\begin{aligned} c^{(v-y)(t+u)} & \sum_{m,n=0}^{\infty} {}_L\mathcal{F}_{m+n}^{(\alpha)}(x, y, z; a, b, c, d; \lambda; \mu, \nu) \frac{t^n u^m}{n! m!} \\ & = \sum_{m,n=0}^{\infty} {}_L\mathcal{F}_{m+n}^{(\alpha)}(x, y, z; a, b, c, d; \lambda; \mu, \nu) \frac{t^n u^m}{n! m!}. \end{aligned} \quad (5.4)$$

Expanding the exponential function and using (2.3), we find

$$c^{(v-y)(t+u)} = \sum_{N=0}^{\infty} (v-y)^N \log^N c \frac{(t+u)^N}{N!} = \sum_{k,s=0}^{\infty} \frac{(v-y)^{k+s} \log^{k+s} c t^k u^s}{k! s!}. \quad (5.5)$$

Setting the double series of (5.5) for $c^{(v-y)(t+u)}$ in the left member of (5.4), we get a quadruple series. Pairing the quadruple series into two double series with the indices (n, k) and (m, s) , and using (2.1) with $p = 1$ in the respective double series, we have

$$\begin{aligned} & \sum_{m,n=0}^{\infty} \sum_{k=0}^n \sum_{s=0}^m \frac{(v-y)^{k+s} \log^{k+s} c}{k! s!} {}_L\mathcal{F}_{m+n-k-s}^{(\alpha)}(x, y, z; a, b, c, d; \lambda; \mu, \nu) \\ & \times \frac{t^n}{(n-k)!} \frac{u^m}{(m-s)!} = \sum_{m,n=0}^{\infty} {}_L\mathcal{F}_{m+n}^{(\alpha)}(x, v, z; a, b, c, d; \lambda; \mu, \nu) \frac{t^n u^m}{n! m!}. \end{aligned} \quad (5.6)$$

Finally, comparing the coefficients of $t^n u^m$ on both sides of (5.6), we obtain (5.1). □

6 Remarks and special cases

The Laguerre-based generalized Apostol type polynomials ${}_L\mathcal{F}_n^{(\alpha)}(x, y, z; a, b, c, d; \lambda; \mu, \nu)$ in (1.25) being very general, they can reduce to yield a number of relatively simple polynomials and numbers. For example,

$$\begin{aligned} {}_L\mathcal{F}_n^{(\alpha)}(0, y, z; e, 1, e, 2; \lambda; \mu, \nu) & = {}_H F_n^{(\alpha)}(y, z; \lambda; \mu, \nu); \\ {}_L\mathcal{F}_n^{(0)}(x, y, z; e, 1, e, 2; \lambda; \mu, \nu) & = {}_H L_n(x, y, z); \\ {}_L\mathcal{F}_n^{(0)}(0, y, z; e, 1, e, 2; \lambda; \mu, \nu) & = H_n(y, z); \\ {}_L\mathcal{F}_n^{(0)}(0, y, 0; e, 1, e, 2; \lambda; \mu, \nu) & = F_n^{(\alpha)}(y; \lambda; \mu, \nu); \\ {}_L\mathcal{F}_n^{(0)}(0, y, 0; e, 1, e, 2; -\lambda; \mu, \nu) & = (-1)^\alpha B_n^{(\alpha)}(y; \lambda); \\ {}_L\mathcal{F}_n^{(0)}(0, y, 0; e, 1, e, 2; \lambda; 1, 0) & = E_n^{(\alpha)}(y; \lambda); \end{aligned}$$

$$\begin{aligned}
 {}_L\mathcal{F}_n^{(0)}(0, y, 0; e, 1, e, 2; \lambda; 1, 1) &= G_n^{(\alpha)}(y; \lambda) \\
 {}_L\mathcal{F}_n^{(\alpha)}(0, y, 0; e, 1, e, 2; -1; 0, 1) &= (-1)^\alpha B_n^{(\alpha)}(y); \\
 {}_L\mathcal{F}_n^{(\alpha)}(0, y, 0; e, 1, e, 2; 1; 1, 0) &= E_n^{(\alpha)}(y); \\
 {}_L\mathcal{F}_n^{(\alpha)}(0, y, 0; e, 1, e, 2; 1; 1, 1) &= G_n^{(\alpha)}(y); \\
 {}_L\mathcal{F}_n^{(0)}(x, y, 0; e, 1, e, 2; \lambda; \mu, \nu) &= L_n(x, y); \\
 {}_L\mathcal{F}_n^{(\alpha)}(0, y, 0; a, b, c, 2; -\lambda; 0, 1) &= (-1)^\alpha B_n^{(\alpha)}(y; \lambda; b, a, c); \\
 {}_L\mathcal{F}_n^{(\alpha)}(0, y, 0; b, a, c, 2; \lambda; 1, 0) &= E_n^{(\alpha)}(y; \lambda; a, b, c); \\
 {}_L\mathcal{F}_n^{(\alpha)}(0, y, 0; b, a, c, 2; \lambda; 1, 1) &= G_n^{(\alpha)}(x; \lambda; a, b, c).
 \end{aligned}$$

Using these particular cases to the identities in the previous sections, we can get those corresponding identities involving various polynomials and numbers. For example, we give an implicit formula for the Hermite-based generalized Apostol type polynomials ${}_H F_n^{(\alpha)}(y, z; \lambda; \mu, \nu)$ in (1.23), asserted in the following corollary.

Corollary 6.1. *Let $n, m \in \mathbb{N}_0$ and $\alpha, v, y, z, \lambda, \mu, \nu \in \mathbb{C}$. Then*

$$\begin{aligned}
 &{}_H F_{m+n}^{(\alpha)}(v, z; \lambda; \mu, \nu) \\
 &= \sum_{k=0}^n \sum_{s=0}^m \binom{n}{k} \binom{m}{s} (v - y)^{s+k} {}_H F_{m+n-s-k}^{(\alpha)}(v, z; \lambda; \mu, \nu).
 \end{aligned} \tag{6.1}$$

Acknowledgments

The authors would like to express their deep-felt gratitude for the reviewer’s useful comments to improve this paper as it stands.

References

- [1] M. Abramowitz and I. A. Stegun (Editors), Handbook of Mathematical Functions with Formulas, Graphs, and Mathematical Tables, Tenth Printing, National Bureau of Standards, Applied Mathematics Series 55, National Bureau of Standards, Washington, D.C., 1972; Reprinted by Dover Publications, New York, 1965.
- [2] E. T. Bell, Exponential polynomials, Ann. Math. 35 (1934), 258–277.
- [3] Yu. A. Brychkov, On multiple sums of special functions, Integral Trans. Spec. Func. 21(12) (2010), 877–884.

-
- [4] J. Choi, Notes on formal manipulations of double series, *Commun. Korean Math. Soc.* **18**(4) (2003), 781–789.
- [5] L. Comtet, *Advanced Combinatorics: The Art of Finite and Infinite Expansions* (Translated from the French by J. W. Nienhuys), Reidel, Dordrecht and Boston, 1974.
- [6] G. Dattoli, S. Lorenzutta and C. Cesarano, Finite sums and generalized forms of Bernoulli polynomials, *Rend. Mat.* **19** (1999), 385–391.
- [7] G. Dattoli and A. Torre, Operational methods and two variable Laguerre polynomials, *Atti Acad. Torino* **132** (1998), 1–7.
- [8] A. Erdélyi, W. Magnus, F. Oberhettinger, and F. G. Tricomi, *Higher Transcendental Functions*, Vol. **3**, McGraw-Hill Book Company, New York, Toronto, and London, 1955.
- [9] E. R. Hansen, *A Table of Series and Products*, Prentice-Hall, Englewood Cliffs, New Jersey, 1975.
- [10] Y. He, S. Araci, H. M. Srivastava and M. Abdel-Aty, Higher-order convolutions for Apostol-Bernoulli, Apostol-Euler and Apostol-Genocchi polynomials, *Mathematics* **6**(12) (2019), <http://dx.doi.org/10.3390/math6120329>
- [11] N. U. Khan and T. Usman, A new class of Laguerre-based generalized Apostol polynomials, *Fasc. Math.* **57** (2016), 67–89.
- [12] N. U. Khan and T. Usman, A new class of Laguerre-based poly-Euler and multi poly-Euler polynomials, *J. Anal. Num. Theor.* **4**(2) (2016), 113–120.
- [13] N. U. Khan and T. Usman, A new class of Laguerre poly-Bernoulli numbers and polynomials, *Adv. Stud. Contemporary Math.* **27**(2) (2017), 229–241.
- [14] N. U. Khan, T. Usman and A. Aman, Generating functions for Legendre-based poly-Bernoulli numbers and polynomials, *Honam Math. J.* **39**(2) (2017), 217–231.
- [15] N. U. Khan, T. Usman and J. Choi, Certain generating function of Hermite-Bernoulli-Laguerre polynomials, *Far East J. Math. Sci.* **101**(4) (2017), 893–908.
- [16] N. U. Khan, T. Usman and J. Choi, A new generalization of Apostol type Laguerre-Genocchi polynomials, *C. R. Acad. Sci. Paris, Ser. I* **355** (2017), 607–617. <http://dx.doi.org/10.1016/j.crma.2017.04.010>
- [17] N. U. Khan, T. Usman and J. Choi, A new class of generalized polynomials, *Turk. J. Math.* **42** (2018), 1366–1379.

-
- [18] N. U. Khan, T. Usman and J. Choi, A new class of generalized Laguerre-Euler polynomials, *RACSAM* **113** (2019), 861–873. <https://doi.org/10.1007/s13398-018-0518-8>
- [19] N. U. Khan, T. Usman and W. A. Khan, A new class of Laguerre-based generalized Hermite-Euler polynomials and its properties, *Kragujevac J. Math.* (2018), in press.
- [20] D.-Q. Lu and Q.-M. Luo, Some properties of the generalized Apostol type polynomials, *Bound. Value Probl.* **2013**(2013), Article ID 64. <http://www.boundaryvalueproblems.com/content/2013/1/64>
- [21] Y. L. Luke, *The Special Functions and Their Approximations*, Vol. I, Academic Press, New York and London, 1969.
- [22] Q.-M. Luo, Apostol Euler polynomials of higher order and Gaussian hypergeometric functions, *Taiwanese J. Math.* **10**(4) (2006), 917–925.
- [23] Q.-M. Luo, q -extensions for the Apostol-Genocchi polynomials, *Gen. Math.* **17**(2) (2009), 113–125.
- [24] Q.-M. Luo, Extensions for the Genocchi polynomials and its fourier expansions and integral representations, *Osaka J. Math.* **48** (2011), 291–310.
- [25] Q.-M. Luo and H. M. Srivastava, Some generalizations of the Apostol-Bernoulli and Apostol-Euler polynomials, *J. Math. Anal. Appl.* **308**(1) (2005), 290–302.
- [26] Q.-M. Luo and H. M. Srivastava, Some relationships between the Apostol-Bernoulli and Apostol-Euler polynomials, *Comput. Math. Appl.* **51** (2006), 631–642.
- [27] Q.-M. Luo and H. M. Srivastava, Some generalizations of the Apostol-Genocchi polynomials and the Stirling number of the second kind, *Appl. Math. Comput.* **217** (2011), 5702–5728.
- [28] W. Magnus, F. Oberhettinger and R. P. Soni, *Formulas and Theorems for the Special Functions of Mathematical Physics*, Third Enlarged edition, *Die Grundlehren der Mathematischen Wissenschaften in Einzeldarstellungen mit besonderer Berücksichtigung der Anwendungsgebiete*, Bd. **52**, Springer-Verlag, Berlin, Heidelberg and New York, 1966.
- [29] G. Ozdemir, Y. Simsek and G. V. Milovanović, Generating functions for special polynomials and numbers including Apostol-type and Humbert-type polynomials, *Mediterr. J. Math.* **14** (2017), Article ID 17.
- [30] E. D. Rainville, *Special Functions*, Macmillan Company, New York, 1960; Reprinted by Chelsea Publishing Company, Bronx, New York, 1971.

- [31] Y. Simsek, New families of special numbers for computing negative order Euler numbers and related numbers and polynomials, *Appl. Anal. Discrete Math.* **12** (2018), 001–035.
- [32] H. M. Srivastava and J. Choi, *Zeta and q -Zeta Functions and Associated Series and Integrals*, Elsevier Science Publishers, Amsterdam, London and New York, 2012.
- [33] H. M. Srivastava, M. Grag and S. Choudhary, A new generalization of the Bernoulli and related polynomials, *Russian J. Math. Phys.* **17** (2010), 251–261.
- [34] H. M. Srivastava, M. Grag and S. Choudhary, Some new families of generalized Euler and Genocchi polynomials, *Taiwanese J. Math.* **15** (2011), 283–305.
- [35] H. M. Srivastava and H. L. Manocha, *A Treatise on Generating Functions*, Halsted Press (Ellis Horwood Limited, Chichester), John Wiley and Sons, New York, Chichester, Brisbane and Toronto, 1984.
- [36] S.-l. Yang, An identity of symmetry for the Bernoulli polynomials, *Discrete Math.* **308** (2008), 550–554. <https://doi.org/10.1016/j.disc.2007.03.030>
- [37] S. L. Yang and Z. K. Qiao, Some symmetry identities for the Euler polynomials, *J. Math. Res. Exposition* **30**(3) (2010), 457–464.
- [38] Z. Zhang and H. Yang, Several identities for the generalized Apostol-Bernoulli polynomials, *Comput. Math. Appl.* **56**(12) (2008), 2993–2999.

Nabiullah Khan Department of Applied Mathematics, Faculty of Engineering and Technology, Aligarh Muslim University, Aligarh-202002, India.

E-mail: nukhanmath@gmail.com

Talha Usman Department of Mathematics, School of Basic and Applied Sciences, Lingaya's University, Faridabad-121001, Haryana, India

E-mail: talhausman.maths@gmail.com

Junesang Choi Department of Mathematics, Dongguk University, Gyeongju 38066, Republic of Korea

E-mail: junesang@dongguk.ac.kr